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NAME ______________________________________________  Date due:  ________________________
REWIND AND REMEMBER #3 (Acc)

You must turn this page in on________________________for a grade! (20 points)
1) -15 – (-8) + 26 – (-3)

2) (-3)(-6)(-2)(1)

3) [image: image2.png]



4) [image: image4.png](4.1)°




5) [image: image6.png]


 (give answer as a decimal – no calc!)
6) [image: image8.png][(-6
)
+100] - 4°




7) [image: image10.png]5+[2(2 x3-4)]+3[3+4(8-2x5)+3]




8)
Find the area of a triangle with a base of 40.2m and height of 8.3m.
8) x = 3, y = -2, s = 5, t = 0
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